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PHYS 100 Midterm examination #2 {(vers. 2D)

Oct. 28, 2005 Name
Time. 50 minutes Student No.
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Please show complete solutions and explain your reasoning, stating any principles that you

have used.
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1o A ball is thrown from the roof of a building at a 60° angle above the horizontal with a

speed of 16 m/s. 5.0 seconds later, the bali hits the ground. [Ignore the air resistance.
A) Determine height of the building.
B) Find the horizontal distance x.
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Ao Ariver is 1.2 km wide and its current is flowing at 3 km/h. A man wants to drive a boat
across the river to reach a point on the other bank directly opposite to his starting point. His
boat is capable of travelling 5 km/h in still water.

A) At what angle upstream shouid the man point his boat (6=7)?

B} How long does it take for him to cross the river? - s
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A (s mang). A Pendulum is a small bob SWinging to and fro on a string, as shown in the figure
below. The bob reaches the bottom A with a horizontal velocity of 2.0m/s to the right. 0.50s

later, it reaches B with a velocity 0.40m/s at an angle of 30°. The length of the string is 1.25m.
(a) Find the horizontal component of the velocity of the bob at B.

(b) Find the average acceleration of the bob over the time interval between A and B.
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3 N Force vs Time Graph
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4smans)- The graph shows the x-component of the net force acting on a 5 kg block, as a function
of time. At =0 s, the block is moving along the negative x-direction with a speed of 6 m/s.

(a) What is the velocity of the block at t=4 57

(b) What is its velocity at =8 s?
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